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question paper kindly check your test booklet and O.M.R. N UAIMN. TIR—TFD B TA—Hifd S P I8 gﬁﬁ%m PN o
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*  The serial numbers of test booklet and O.M.R. answer sheet | # U995 JRAHT UG MYAIMR. STR—UF & HHH Y T & |
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properly printed. All questions from S. No. 1 to last S. No. 150 8T R LG gi%ﬂ—cm H g9 9. 1 9 3if~d9 AP 150 db )
are printed and pages from S. No. 1 to last S. No. 24 are there ueA HHIR G € vd Wl U BHAR 1 W 24 T HioE € |

in the question booklet.
In case of any discrepancy/defect the candidate should | f&efl +f goR @ fadIfy B9 a1 <Yol 9 R yeI—ua gRa®r gd
immediately report the matter to the invigilator for replacement of | g TH.3R. ITN—"=d BT EGN TIBTHT ISR & 9T BN of | Teelm
test booklet and O.M.R answer sheet. No claim/objection in this | yrur 2 & 5 fime & ueard WA Rerfy Rl </ /3Ry R s
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4.  All questions carry equal marks. 4. i u @ 3 AN B |

5. Only one answer is to be given for each question. 5. U YT B Had Uh & SR SIIT |

6. If more than one answers are marked, it would be treated as | 6. T® ¥ fffh SR < &1 TUT H U9 & SN BT TaAd HMT

wrong answer. SITRTT |

7. There is no Negative marking. 7. HUES AF T TE 2|

8. Each question has four alternative responses marked serially | 8. UR® U3 @& IR ddfoqs SRk fev U & < e
as (A), (B), (C), (D). Candidate has to darken only one circle (A), (B), (C), (D) =ifdsa fopar ar 7 | anwaedf &1 &1 SR fafise
or bubble indicating the correct answer on the Answer Sheet B gY S W Bl Th el AUl 996 Bl STR-UH W

using BLUE BALL POINT PEN. el dfa @fge 99 9 T HRAT 2 |

9. Use of Mobile Phone/ Bluetooth Devices or any other | 9. HETSel BIF /ICY TS T Selagie I3 &1 Wel 8id #

electronic gadget in the examination hall is strictly prohibited. TN Tﬁ—cﬁiﬂ afdfa 2| afe & sngeff & o ot o afvia
If any such prohibited material is found with any candidate, T frerdt 8, 1 v favg d1€ R FUAHER Bk GRiaE
strict action will be taken by the Board against him/her as per & ST |
rule.

10. If there is any sort of ambiguity/mistake either of printing or | 10. afg f<l Uea & 2= Td S wuRl # 5=l TR & BIg
factual nature in Hindi and English version of the question, ST AT RATHD THR Al —ar[% gl 4l U3 BT UG HurRoT
the English version will be treated as standard. =g BN |

Warning : If a candidate is found copying or if any unauthorized | TTAT : 3FR B¢ anzefl el I TSl WA & I ITS IR A

material is found in his/her possession, F.Il.R. would be lodged LI S e o R, 99 et & e m  grerfia
against him/her in the Police Station and he/she would be liable to ol ntd ) i R Grgﬁm AT A AP AR, 1002 @
be prosecuted under Section 3 of the State Prevention of Unfair R 3 T A & e f T R v g
rreft @1 sy # g aTelt 1€ @ R wereit ¥ fJafsia ax awarn
gl
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Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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Which of the following (Political Activist -
Related Princely State) is not correctly
matched?

(A) Krishna Dutt Paliwal - Dholpur

(B) Harimohan Mathur - Karauli

(C) Mathura Das Mathur - Marwar

(D) Gopilal Yadav - Bharatpur

Bharatpur Rajya Praja Sangh was established

in-
(A) 1937 (B) 1928
(C) 1938 (D) 1942

Who was the political agent of Jaipur during
the Revolt of 1857?

(A) Mock Mason
(C) William Eden

(B) Major Burton

(D) Major Morrison
During the tenure of which Governor General
of India, the Hindu Widow Remarriage Act was
passed?

(A) Lord Amherst
(C) Lord Canning

(B) Lord Ellenborough
(D) Lord Mayo

In 1818 AD, on behalf of the company, the
officer who made Treaty with the Rajput state
was -

(A) Mock Mason
(C) Charles Hector

(B) James Ferguson
(D) Charles Metcalfe

Gandhi Ashram in Hatundi (Ajmer) was
established by -

(A) Arjunlal Sethi ]

(B) Haribhau Upadhyaya E
(C) Jamnalal Bajaj

(D) Manikya Lal Verma

Through which newspaper did Vijay Singh
Pathik propagate the Bijolia farmer movement
all over India?

(A) Naveen Rajasthan (B) Tarun Rajasthan

(C) Yugantar (D) Pratap
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frfaRaa § 9 oA (IoHIae SRIGAT —
Hefera qel ro) gAferd T8l 8?
(A) PpoTET UTefiarel — HIeTgR
(B) BRHTET AR — PRIel
(C) HRT T AR — ARATS
(D) TMTeTel ATGd — WRAYR

WRAPR IR Yl FH B WIYAT §g —

(A) 1937 % (B) 1928 #

(C) 1938 # (D) 1942 #

1857 ®1 Hifd & IRM SAYR & difrlcha
UoIve i 4?7

(A) Hfe Ha (B) AoR ¥

(C) faferam =+ (D) Aok ARRIA

ARA & b TI7R SR & BRIGIA & SR,
feg fager qafdare sfafrm aiRa faar
oqT?

(A) |fE THER (B) WS UaTaRI

(C) dfe dfHT (D) |fe #a

1818F. H, H¥UII BT AR H oY AT A Al
B ATl SMABNT o —

(A) Hid 794 (B) SIF B

(C) =¥ Taex (D) Tl HedHTh
BCUS] (QIOTHR) H TR oM @l RRITuAT
.......................... & GRT &I T3 |

(A) 3Tl AT

(B) gR¥TS, SUrRAr™

(C) STHATATS TS

(D) AT et AT

fasrai¥ie ufore 9 6w TarEaR o & Aegq o
faSiiforar famM =l & UaR R 9Rd 4
PR e or?

(A) I RTSTRRATT (B) THUT ITSTRATH

(C) gamr=R (D) ydamg
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8. Read the following statements carefully — 8.  aenfalRad wesl ®f gfeu —
(i) In the late 19™ century, the Desh Hiteshini (i) 1991 I & STRIE H, Hare H <7 RAfwoh
Sabha was established in Mewar. JHT DI WITGAT DI T2 |
(ii) :okc)fl reform was the core objective of the (if) T T T I FHIST GER o |
abha.
Choose the correct code - il e aﬁ-q B
(A) Only statement (i) is true (A) Baet FIT (i) 9 & E
(B) Only statement (ii) is true (B) Bt BT (ii) 9 &
(C) Neither (i) nor (ii) is true (€)= Eﬁ (i) T & (“)_W g
(D) Both the statements are true (D) T Do W ©
9. Who defeated the combined army of British 9 1857 &I wifd H, 3MUS UG SIEYR 5T Bl
and Jodhpur state in the Revolt of 18577? H'Q:J)cm 9T b7 fhas g faar?
(A) Thakur Kushal (B) Jaydayal (A) BTaR HITS Rig 3 (B) w¥edrd o
Singh vz Ri
(C) Mehrab Khan (D) Rawat Ram Singh (©) e @ | (B) Rradt a
10.  Which among the following Thikanas imposed ~ 10. fa=foRad fowmi & | fead ot &%
‘Chanwari tax’? SITT?
(A) Kuchaman (B) Didwana (A) gamT (B) Srsarr
(C) Bhainsrorgarh (D) Bijolia (C) R (D) fasiiferar
1. “Mahansar’ is famous for - 1. 7goRR gRig & —
(A) Golden work in painting (A) 99 @1 feEaRl & forw
(B) Abundance of Mughal paintings (B) @Il oAl @ S1frasar & forg
(C) The Haveli of 360 windows (C) 360 Rasfhal &I gdoll & foTw
(D) Sati Mata Temple (D) < H1aT Hfer B forw
12.  Where was Swami Keshavananda, a famous 12- 31T ¥d & ®U #, Rig W@ ®IdH~< T
education saint born? Y PEl galT?
(A) Banasur Village (B) Mangloona Village (A) 9TOTRIR T4 (B) HITeLAT TIia
(C) Harnawa Village (D) Rampura Berry (C) &=rar rq (D) IHYRT
13. Where is the ‘Bhartiya Lok Kala Mandal 13- YR @b $oll AvSS A dal Rerd
Institute’ located? g7
(A) Udaipur (B) Jodhpur (A) IR (B) STRIgR
(C) Tonk (D) Jaipur (C) cih (D) STIgR
14. At which place in Rajasthan the Chandrabhaga 14 @ifdd &M H IHNT U Hell oA H
Cattle Fair is organized in the month of Kartik? frg 9 W) ARSI BT 87
(A) Jhalawar (B) Jhalrapatan (A) SITITaTS (B) SITeRTUTCSH
(C) Keshoraipatan (D) Sitabari (C) BHeeRTIUTeH (D) HdrETS!
15.  |n which year was first commemorative stamp  15-  feireTe Rea faog ™7 R U8l ¥IR®
on ‘Vijay Stambh’ of Chittorgarh released? SId fedhe de SR fhar Tar?
(A) 1974 (B) 1949 (A) 1974 (B) 1949
(C) 1986 (D) 1956 (C) 1986 (D) 1956
16.  The ‘Shukra Pond’ got constructed by Akbar is ~ 16-  3/@aR gRT fHT ‘gep arena’ fvs el & Rera
situated in which fort? 27
(A) Shergarh (B) Nagaur (A) IR (B) ATR
(C) Gagron (D) Sivana (C) T RIA (D) e
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17. Lodrava is famous for - 17, Ggar ufig © —
(A) Jains (B) Sikhs (A) Sifaf & forg (B) Rraxai & forg
(C) Jats (D) Gurjars (C) Siret & forg (D) T[RRI & forg
18.  Which ruler of Mewar patronized the painter 18- IfRqd™ A& RE®ER & Aare & fhba IS
Sahibdin? T HRETUT YT oAT?
(A) Maharana Raj Singh (A) HERIUTT ITSIRIE
(B) Maharana Amar Singh (B) HERION 3TRRiE
(C) Maharana Jagat Singh | (C) HERIOT SITARIE |
(D) Maharana Kumbha (D) ABRIOT T
19.  Falku Bai’ is related to which folk dance? 19. ‘G 915 BT T b9 dlb TI 4 27
(A) Bhawai Dance (B) Chari Dance (A) warg T (B) =R &
(C) Kalbelia Dance (D) Terahtali Dance (C) Brerdferar 7@ (D) AREdTA T
20. \Which one of the following musical instrument ~ 20. fa=faiRad § & &9 A1 arer I 91 O4F 9
is different from the other three? 3T &°
(A) Khadtal (B) Mashak (A) Tedre (B) H91h
(C) Shehnai (D) Algoza (C) 31T (D) TSI
21.  pratap Singh Barhath was imprisoned in which ~ 21. fa=faRad § 9 59 ss39 &9 ¥ yaulig
of the following conspiracy case? qRES BT HRIEN fedr Tar?
(A) Alipore conspiracy case (A) 3TTYR YIH DA
(B) Lahore conspiracy case oL (B) AER YSIH HHaH]
(C) Udaipur conspiracy case E (C) SR vsIA HhaHl
(D) Banaras conspiracy case (D) SR TSIF YhaH
22. \Which one of the following (Ornament - 22 f=faRad H F HIMAT @MY — A 3)
Human body part) is not matched correctly? ?Iﬁﬁﬁ el 27
(A) Suraliya - Ear (B) Timaniya - Neck (A) FRIeRT — & (B) fomform — e
(C) Ramjhol - Wrist (D) Tagadi - Waist (C) T — Herg (D) TS — HR
23. sridhar Andhare should be given credit for  23. sfieR IR &I fbd RN & UG § aF
bringing to light the painting style - P12 fear S 27
(A) Kishangarh (B) Devgarh (A) fherTe (B) TTTe
(C) Shahpura (D) Uniara (C) wr8YRT (D) IfOrIRT
24.  Match the following — 24.  gyfera dITY —
Kuldevi Caste m?ﬁ Sills]
(1) Karni mata (i) Nai/Nayee (1) RO ATAT (i) 1
(2) Sakrai mata (i) Seervi (2) FHIT AT (i) R4
(3) Aai mata (iii) Khandelwal (3) Mg AT (iii) EUSrdTe
(4) Narayani mata (iv) Charan (4) RTION AT (iv) =IRoT
(A) 1-iv, 2-i, 3-ii, 4-iii ~ (B) 1-ii, 2-i, 3-iv,4-iii (A) 1-iv, 2-i, 3-ii, 4-iii ~ (B) 1-ii, 2-i, 3-iv,4-iii
(C) 1-iv, 2-iii, 3-ii, 4-i (D) 1-iv, 2-iii, 3-i, 4-ii (C) 1-iv, 2-iii, 3-ii, 4-i (D) 1-iv, 2-iii, 3-i, 4-ii
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25. How many volumes are there in ‘Batan Ri 25 'qrdi ¥ Getar)' foba @usi 4 fawad 27?
Phulwari’?
A) 8 ®) 10 (A) 8 (B) 10
©) 14 D) 16 (C) 14 (D) 16

26. To which sect Govind Dev Temple, Jaipur and ~ 26- ifdg <9 AfGR, SAYR UG Aa- #Algd AfG,
Madan Mohan Temple, Karauli are related? PRI BT T fhd a9e™ | 87
(A) Nath (B) Vallabh (A) =er (B) doetv
(C) Ramsnehi (D) Gaudiya (C) IM==Ta! (D) TS

27. To whom did Kesari Singh Barhath addressed ~ 27- &%l Rig 983 7 ‘Idrasil 1 FfeAT fHa]
‘Chetavani Ra Chungatiya’? IS e forar?
(A) Maharana Pratap Singh (A) HERTOT yam™ R4E
(B) Maharana Fateh Singh (B) FERTOT Holg R
(C) Maharana Ajit Singh (C) HBRIT 3riig Rig
(D) Mirza Raja Jaisingh (D) At =Tt ST

28.  ‘Mahamandir of Jodhpur’ is a place of worship ~ 28- ‘TIEqR &1 HBMGY IUNAT WA & —
of - (A) e e &1 (B) 715, WY B
(A) Bishnoi sect (B) Dadu sect (C) IS H9er B (D) 1o HISH Bl
(C) Ramsnehi sect (D) Nath sect

29.  What is the ‘Badhar’? 29. ‘ggR’ AT 27
(A) Wedding banquet (A) faare R SIS Ao
(B) A tribe of Rajasthan (B) ISIRAT BT Uh SIS sy
(C) An act of funeral (C) siafe &1 U fohar E
(D) A lake of Rajasthan (D) TSR DT U 3Tl

30.  Which one of the following is not correctly — 30- =1 % & PI9—aT I\ Fofera T8l 57
matched? (A) TR HEThTed — Tgds IR0
(A) Hammir Mahakavya - Nayanchandra Suri (B) der WRehR — <HEe A0
(B) Vansh Bhaskar - Suryamall Mishan
(C) Kuvalaymala - Uddhyotana Suri (C) el — SEaT J
(D) Prithviraj Vijay - Chand Bardai (D) GeARTST Aoty — F<axarg

31. The author of poetry collection, ‘Mugtee’ is - 3. Jardl AW HiAdT §UB & @l § —
(A) Kirti Sharma (B) Meethesh Nirmohi (A) P 3™t (B) Higer ATl
(C) vijay Verma (D) Asha Parashar (C) fasrg =t (D) 3T YRR

32. The cloth worn on the waist by the men of Bhil ~ 32-  ¥fieT Sofd & Y®Y HAR WR Sl a9 uc]
tribe is called - A B, S FT Hal Sial 27
(A) Jama (B) Kachabu (A) SITHT (B) BT
(C) Polya (D) Khoyatu (C) e (D) @RI

33.  Who is called the Folk deity (Lok Devta) with ~ 33- =R BRI} dTell dlbedal b w8 Sl 87
four hands? (A) oo SN (B) HoahHTer oY
(A) Kalla ji (B) Mallinath ji
(C) Fatta ji (D) Jhunjhar ji (€) e S (0) g oft
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34.

To which order of Sufism, the symbol of
communal harmony Qazi Hamiduddin Nagori,

34.
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TN, forT < RIeIRI & o7

belonged? (A) fereeht (B) @rfet
(A) Chisti (B) Kadiri Rt
(C) Magribi (D) Suharawardi © ®)g
35.  The mosque of Malik Shah is situated in - 35. HfeTd v @) ARSI Fal Rerd 87
(A) Jhalawar (B) Baran (A) SITeTTarS (B) g1
(C) Jalore (D) Rajsamand (C) SR (D) ITHHE
36. |f the meridian that determines the Indian  36. Ife YRAT 996 9T — (IST) T HuiRa &=
Standard Time — (IST) is given the status of qTell TR T BT FEH TR X7 BT GOl
Prime Meridian then what will be longitude of fear Sme, o &Tvl?:r@?l fafr a1 &1 <R
the International Date line? AT BITT?
(A) 97°30' West (B) 97°30' East (A) 97°30' uf=m (B) 97°30' qd
(C) 82°30' East (D) 180° East (C) 82°30' & (D) 180° gd
37. The Dry Land farming is done in India in - 37. uRd H Y &3 H¥ B Kl 7 —
(A) 100 cm to 150 cm annual rainfall areas (A) 100 9.4, & 150 9.H. a1 quT e #
(B) 35 cm to 75 cm annual rainfall areas (B) 359.H). ¥ 759.H. A a9l &= §
(C) 75 cm to 110 cm annual rainfall areas (C) 75 ¥ 110 9.1, a1 auf &= o
(D) More than 150 cm annual rainfall areas (D) 150 9.H. & 31fSp auf el o
38. |ndia has been divided into 15 Agro-climatic ~ 38 9RT &I 15 HR—Iary ycel d favaa b
zones by- T 8 —
(A) The Planning Commission E (A) ITSTET JTART gV
(B) The Agricultural Ministry (B) BfY HATTA gRT
(C) The Water-Resource Ministry (C) STT—HATEIA HATAT gINT
(D) The Meteorological Department (D) 97\ faWmT gIRT
39. |ndia’s first olive refinery, was set up in 39 HRd @I YIH R, o= #
Rajasthan at - AT BT TS o —
(A) Pachpadra (B) Lunkaransar (A) T=ugT H (B) UTHROTAR H
(C) Amarsagar (D) Suratgarh (C) 3FRATR H (D) JRaTe H
40.  Highest Ragi producing state of India is - 40. 9Rq ¥ Faifre N SATEH T ® —
(A) Uttarakhand (B) Tamil Nadu (A) ITRIES (B) dffreterg
(C) Maharashtra (D) Karnataka (C) "R (D) FTcH
41. Which one of the following (Shifting Cultivation ~ 41. Fr=feiRad H 9 ®IF |1 (RIFTRNT By — &)
- Area) is not correctly matched? ?f[ﬁrf%lﬁ el 77
(A) Ponam - Kerala (A) 999 — B
(B) Podu - Andhra Pradesh and Odisha (B) OIS, — 3ITeT Q¥ AR NS
(C) Jhum - Assam (C) sH — 3rH
(D) Kumari - Madhya Pradesh (D) AR — Heg Yagl
42.  ‘palk strait’ is located between - 42. ‘qrp ¥ JaARed g —
(A) India and Maldives (A) YRT 3R AT & Teg
(B) India and Indonesia (B) YRT 3R SUSHRRT & A
(C) India and Myanmar (C) YRT 3R AR & T
(D) India and Sri Lanka (D) YRT IR MAdT > 9
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43.
44,
45.

46.

47.

48.

49.

50.

Which of the following Hills is not a part of the
‘Satpura Range’?

(A) Rajpipla (B) Mahadev

(C) Bharner (D) Maikal

Which state of India has the highest percentage
of forest area in the total area?

(A) Arunachal Pradesh (B) Nagaland

(C) Mizoram (D) Tripura
‘Shivasamudram’ waterfall is located on which
river?

(A) Kaveri
(C) Godawari
In which of the following groups of districts in
Rajasthan is alluvial soil mainly found?

(A) Bharatpur - Dholpur

(B) Banswara -Dungarpur

(C) Kota - Bundi

(D) Bikaner - Jaisalmer

(B) Sharavati
(D) Periyar

According to Census 2011, the sex ratio in

Rajasthan is -

(A) 15 points lower than the national average.

(B) 6 points higher than the national average.

(C) 6 points lower than the national average.

(D) 11 points lower than the national average.

According to 2011 Census, the percentage of

scheduled tribe population to total population

in Rajasthan is —

(A) 14.8 (B) 16.9

(C) 135 (D) 13.3

‘Isarda Dam Project’ is constructed in which

districts?

(A) Tonk and Sawai Madhopur

(B) Kota and Baran

(C) Jhalawar and Baran

(D) Dungarpur and Banswara

Which among the following (Topography -

Location) is not correctly matched?

(A) Oriya Plateau — Mt. Abu

(B) Bhakar — Eastern Sirohi

(C) Lasadia Plateau — Rajsamand

(D) Bhorat Plateau — Between Kumbhalgarh to
Gogunda

43.

44,

45.

46.

47.

49.

50.
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F=TetRad ugTiedl @ 9 319 AT FdYST el
BT ART T8l 27

(A) IToTdTOeT (B) AETGd

(C) TRR (D) HpTat

IR & fbd 57 H fel &bl H adl Bl
g e Adifeds 87

(A) 3BT U3l (B) ANTTeivS

(©) farsiim (D) T

Rraageq’ Sogurd fbd T IR 3aRerd
g7

(A) BT (B) IRTICi

(C) METaRY (D) IRIR

FrfeRad # | o & {6 Ral & |98
H &I HeSRI Jal UTs Sl &7

() FreT — &Y E

(D) IpTR — SR

(A) MRAYR — ETeTYR
SOMET 2011 ® AR, RO H

(B) giAdTST — §IRYR

forTTgaTa—

(A) I 3ia 9 15 favg 3 7 |

(B) IRy <frad ¥ 6 favg, <1fdres 2 |

(C) Iy 3frad ¥ 6 favg &7 7|

(D) I 3fa ¥ 11 fawg & B |

2011 &1 SVET & JJHAR, RTGRAT Bl el
ST H ST SISl 1 SR &l
gfoerd & —

(A) 14.8 (B) 16.9

(C) 135 (D) 13.3

saRel 91 gRATSHT fhd et o AT fear
T 27

(A) T 3R HaTg ARNYR

(B) T IR IR]

(C) SrTerTaTs 3iR 9Ri

(D) SRYR 3R FHATS]

rifhd § 9 dFEl (RIAG — JaRef)
|E gHferd Tl 2?

(A) IfEIT TSR — 4. 37T

(B) 1R — ot RN

(C) TAIFSAT UBR — NIoTAH—=<

(D) YRIE UoR — HM™AE H NI & 7eY
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51.  |n which of the following districts of Rajasthan 51 Ioreme & fa=faRed & 9 foa Rl o
the ‘Inceptisols soil’ is found? TR &l URll Sir! &7
(A) Kota, Bundi and Baran (A) ®ler, gal 3R IRI
(B) Pali, Bhilwara and Sirohi (B) UTefl, WieTdrsT 3R RIS
(C) Jaipur, Dausa and Alwar (C) SR, <l IR 3TeTaR
(D) Jaisalmer, Barmer and Bikaner (D) TR, IrSiN 3R e

52.  Which (Mineral — Mining Area) is not a correct ~ 52-  ®IF¥T (@S — WA9 &) |el gAford -Tgl
match? 27
(A) Rock Phosphate — Jhamar-Kotra (A) Ifp BRBE — SMR—DICI
(B) Manganese — Kala-Khunta (B) HTIST — hIoAT—C]

(C) Garnet — Kalaguman (C) ATHST — BIARA
(D) Iron Ore — Morija-Dabla (D) &g RN — ARIST—SEdT

53.  |n which district Shergarh Wildlife Sanctuaryis 93 3¥IRT¢ q=roild eIRvy fhd e #§ Rerd
situated? g7
(A) Bundi (B) Baran (A) g (B) a1
(C) sawai Madhopur (D) Karauli (C) Jars HTEﬂH’\’ (D) PRIl

54.  Which is the largest agro — climatic region of 54 RIGRIM &1 FaH 91 P — ToAdY U
Rajasthan? PIT 87
(A) Arid western plains (A) I=p Uil e
(B) Hyper arid partial irrigated zone (B) 31fr 3h 31iflres Rferad e
(C) Internal drainage dry zone (C) 3aRe® ydTs &1 Y &

(D) Sub humid southern plains (D) 37 e gferoft fe™

55. ‘Bjthadi Wind Energy Project’ is established in 55 'dlersl qas1 &1l gRASAT o= @ v
which district of Rajasthan? o1l & Yerfug &1 78 287
(A) Jaisalmer (B) Bikaner (A) SRR (B) fipR
(C) Chittorgarh (D) Jodhpur (C) s e (D) \—rﬁu‘g'\'

56. |n which districts of Rajasthan, population  96- <oRIE H B F R¥ell § S9ET g-7d 100
density is found to be less than 100 persons per afed ufd o fhelMier § &9 urr Srar ®
square kilometre (According to Census - 2011)? (SFITOMT — 2011 & JTAR)?

(A) Jaisalmer, Barmer and Jodhpur (A) SR, ITSHR 3R SR
(B) Jaisalmer, Barmer and Bikaner (B) (TR, IISaN 3R eI
(C) Jaisalmer, Pali and Barmer (C) SR, UTell 3iR dTe™R
(D) Jaisalmer, Pali and Jodhpur (D) TR, UTeil 3R Trﬁ%Tg'\’

57. In which year, Rajasthan State Environment  57- IOIRIE g UITeRol Aifd foa a9 & =ifdq
Policy was declared? . PTAS?

(A) 2008 (B) 2010 P (A) 2008 (B) 2010
(C) 2013 (D) 2018 (C) 2013 (D) 2018

58. Maize is produced largely in which part of 98 IR @ b WNT H HIwl &1 AR
Rajasthan? IATGH BIAT &7
(A) South and South(B) Central (A) gferoly qemr <feroft(B) wexarcdt

East tf‘ﬁ
(C) Eastern (D) Northern (C) gdt (D) I
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59.  According to the Census 2011, which district of ~ 59: 2011 @1 SVAT & JITAR, oA & s
Rajasthan had the lowest rural sex ratio? fSrel 3 =gAaq arior fefmgura er?
(A) Jaisalmer (B) Pali (A) TR (B) Ureil
(C) Tonk (D) Dholpur (C) Ti® (D) &Iy

60. Khus grass is mainly found in Rajasthan in- 60. wH P T T wU F IJORA H g ATl
(A) Bharatpur and Tonk Forest division g -
(B) Western Rajasthan (A) ¥RAYR 3R e ast fawmr 5
(C) South-Eastern Rajasthan (Hadoti) (B) iz RISTeAT o _
(D) Abu Mountain region (©) wferr—gdi WQTH (Ererel) #

(D) 377q uda &F H

61. |n Rajasthan the quorum to constitute a 61 YoM # TR Uifeldr, 3w & favg
meeting for the consideration of a no favar & U R IR &= & forw faeh
confidence motion against the chairman, 98% @& Tod B oy IO IEH HAGH @&
Municipal Board shall be..........c........ of the total ghaR Al DI del TN P............ BT |
number of persons entitle to vote thereat. (A) <= =ers (3/4)  (B) gwar 91T (1/10)
(A) Three fourth (3/4) (B) One tenth (1/10)
(C) One third (1/3) (D) Two third (2/3) (© v fiers (1/3) (O <7 T (2/3)

62. Who was the first Protem Speaker of Rajasthan 62 oI fau 991 @ WM UicH W) $IF
Legislative Assembly? o7
(A) Maharao Sangram Singh (A) FeRIT U™ 8 .
(B) Narayan Singh Masuda (B) ARTICT g AYal E
(C) Poonam Chand Vishnoi (C) =9 =g faers
(D) Yashwant Singh Nahar (D) Trerad g ATeR

63. The Chairman of State Human Rights 63 I AMAINGR JARN & e o gl
Commission is appointed by the Governor on IUTA §RT U AR & eIk .®R &)
the recommendation of a committee, who STl 8, o ®iF wnfier [81 graT 87
among the following is not part of that? (A) ﬂ@ﬂ?ﬁ
(A) Chief Minister (B) T+ 3reed
(B) Speaker of Legislative Assembly (C) faerr=raT &1 fader &1 =
(C) Opposition Leader of Legislative Assembly (D) S=a <RI BT H&I AT
(D) Chief Justice of High Court

64. What is the maximum amount that the 64 ISR ST T AN Gl T8l o W
Rajasthan State Information Commission can Jffgpad fdha-l RN BT JAMT ARIMT AR
impose fine for not giving information? AHhdT 87
(A) 15,000 (B) 20,000 (A) 15,000 (B) 20,000
(C) 25,000 (D) 30,000 (C) 25,000 (D) 30,000

65. Who was the first Chairperson of the State 65 ISR # o0 fO<T QMANT & YA 1edel did
Finance Commission in Rajasthan? oF?
(A) K. K. Goyal (B) Heeralal Devpura (A) &. B. TRIA (B) ERTATA SdYRT
(C) M. C. Surana (D) s. K. Ghosh (C) wA. 41 grom (D) T4, &. °Iy

66. \When was the Planning Department 66. ISR # fOIoM oM @ RIMUAT P9
established in Rajasthan? gs?
(A) 1953 (B) 1954 (A) 1953 (B) 1954
(C) 1955 (D) 1956 (C) 1955 (D) 1956
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67.  Read the statements carefully — 67. ol B AYdD Uy —

(I) Tikaram Paliwal is the only Chief Minister (1) PR UlelldTd oA H THAE T
who has also been a Deputy Chief Minister W TS m ff WY
in Rajasthan. Qo -

(1) Hari Shankar Bhabhra has been the Deputy (i aret WQIH i STG[ T H
Chief Minister of Rajasthan for the longest T AT T W wE
time till now. frg & & e fadey a8 87

Which of the following option is correct? (A) DIt HUF | Fol ©

(A) Only statement | is correct (B) ®acl ®+ || 98T &

(B) Only statement Il is correct ©) 137 1l T FUT TS F

(C) Both statements | and Il are correct : :

(D) Both statements | and Il are incorrect ) 19 1 T Port et

68. |n how many days an appeal can be made to 68. oM dlewdr RSl JfRfIH, 2011 &
the second appellate authority against the fatd goF Irielg g & fAofa & foog
decision of the first appellate authority under fray ot & Ry ardieiy wider @1 arfiar

;P(\)ellliajasthan Public Service Guarantee Act, o wee S

(A) 15 Days (B) 30 Days (A) 15 fo (B) 30 o

(C) 45 Days (D) 60 Days (C) 45 fa (D) 60 fat

69. The Governor of Rajasthan is the ex-officio 69 XSRUM & IUTA U  Gemeufd &

Chancellor of - g -

(A) All the State Universities as well as all the (A) o WY faeafaenerdl & ey & IrorenT
Central Universities working in the territory e T ¥ PR 1 Rvafdereal & |
of Rajasthan. (B) YSRATH & TR T B AT & faoh

(B) All the State as well as Private Universities freafremerdi @ |
of Rajasthan. ~ _

(C) All the State Universities of Rajasthan. (C) ISt & ¥R X159 fawafaerert @ |

(D) Allthe State and Private Universities as well (D) \%c ¥ T ol fawafaencrat & s
as Central Universities working in the B IORAE B 9T ¥ BRRT s
territory of Rajasthan. faeafaemeral & |

70.  president’s rule was imposed for the maximum ~ 70- 11 H 9 ORI & 5 G941 & HRIGIE
number of times during the tenure of which of ¥ Faifre IR Il I SR AT

the following Chief Minister of Rajasthan? (A) 7} Riz SramEa

(A) Bhairon Singh Shekhawat R

(B) Mohan Lal Sukhadia . (B) e <net '

(C) Haridev Joshi E (C) &< ST

(D) Shiv Charan Mathur (D) fRra@RoT 1R

71. The ‘NIPUN Bharat Mission’ is being 71 ‘Fgor wRd fAeM’ SRiftad &I M <@
implemented by - 2 —

(A) Ministry of Education (A) =TT HATeTT ERT

(B) Ministry of Micro, Small and Medium (B) &¥, <Y U W Se HATI §R]

©) If/ln.te_rf”sefl_ our & Emol . (C) 39 Tq ISR AT §RI

inistry of Labour & Employmen NN
(D) Ministry of Science & Technology (D) fasr v &l
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72.

73.

74.

75.

76.

77.

78.

79.

The one rupee note bears the signature of
the -

(A) Finance Minister
(C) Governor, RBI

(B) Prime Minister
(D) Secretary, Ministry

of Finance
The motive of e-SHRAM portal is -
(A) to create a National Database of

unorganised workers

(B) to create a National Database of organised
workers

(C) to educate workers

(D) to do online payment of workers

Who is a chairman of 15" Finance Commission

of India?

(A) Nirmala Sitaraman (B) Dr. Ashok Lahiri

(C) N. K. Singh (D) Ajay Narayan

The National Mission for Saffron has been

launched as a sub — scheme of which among

the following programmes?

(A) National Food Security Mission

(B) National Cash Crop Programme

(C) National Horticulture Mission

(D) Rashtriya Krishi Vikas Yojana

Who wrote the book ‘Planned Economy for

India’?

(A) M. Visvesvaraya  (B) Pt. Jawahar Lal
Nehru

(C) Mahatma Gandhi (D) Man Mohan Singh

Which of the following is related to green

revolution in India?

(A) Environment Protection

(B) High Yielding Variety of Seeds

(C) Green House Effect

(D) Calculation of Green GNP

In which year the concept of Multidimensional
Poverty Index was introduced?
(A) 2010 (B) 2011

(C) 2000 (D) 2008

Which among the following is the quantitative

method of credit control by the Central Bank?

(A) Marginal (B) Credit rationing
requirements

(C) Direct action (D) Bank rate

72.

73.

74.

75.

76.

77.

78.

79.
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THF IR $ Ae W frae swRR BN

g7

(A) faT =01 (B) geraa

(C) o=k, 3rR. 1. ars. (D) wfa, fa<r w=re™

oM UIH FT W T —

(A) RITRT BRI & T ILT e
AT

(B) Ff3T BRI BT U LT Seldd g1 ]

(C) BRI &1 Rfera AT

(D) BTHIRT BT ATTATS YITATT PRAT

159 fo=fra ST & areuel B 87

(A) fer JaRaer (B) . el e

€) 1. &. g (D) 35T AIRTIOT

I R fem fEfeRaa & @ fodaan
SU-AoT & w9 H g fhar Tar?

(A) LTy T gRer A
(B) IR T B U
(C) I grTar= fAeE

(D) I Sy A Aot
BR  sfear

S SHHM fohaae
fordY?

(A) g, fawgeaar (B) 4. STATER oIl A8
(C) HaTeHT ey (D) 7vHTET Rig

fr=faRed § & o wRa | 8Ra wifd &
Hefera 27

(A) GTaROT HReET0T

(B) S7a IATEHAT fhd] B dol

(C) 8RR g yvra

(D) gRT SH.UA.UL. &I 7o

TEIMAT TR FADBIb DI TR b q

PNE

T DI TS AP
(A) 2010 (B) 2011
(C) 2000 (D) 2008

=g db gRT 9 ° 9wl arg ST
BT ulRaonEs fafy 872
(A) i 3MaeIHhdrd  (B) Zor ITeTf=iT

(C) ucgey HrIare (D) §%
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80. How many districts were included in ‘Intensive ~ 80- {7 1960-61 H, e H el HRIFHHA &
Agriculture District Programme’ in 1960-61? it fohast fotelt &1 wTfRa foar Tar?
(A) 7 Districts (B) 8 Districts (A) Ara foTet (B) 3 Tl
(C) 9 Districts (D) 10 Districts (C) 4t Tt (D) T fTel
81.  Which system is currently being adopted inthe 81 aqa™ # o= # anfefe ™ @ e #
field of Economic Planning in Rajasthan? o YOIl BT ORI ST R8T 87
(A) Federal Economic System (A) T anfefes goTreft
(B) Centralized Economic System (B) B=1Iphd ATd YoTTetl
(C) Public Economic System (C) AT 3Tffes woTTel!
(D) District Level Economic System (D) RTeTm e amfefes goren
82.  Which scheme has been implemented on the 82 H=RIT @I dol UR ORI & IR BRI B
lines of MGNREGA to provide financial support A1 3 vey qrol gRaRl @7 fadg 9ganT @
to the families residing in the limits of urban
bodies of Rajasthan? ° fere et AT SRS @R T
(A) Rajeev  Gandhi Urban  Employment (A) I5ftg Titelt 2 RAISHTR TR ATSTT
Guarantee Scheme (B) €9 TUTA SURIT IE ISHIR TR
(B) Deen Dayal Upadhyay Urban Employment
Guarantee Scheme RIER
(C) Indira Gandhi Urban  Employment (C) gfexT 7ifell T2 ISR TR=ET AT
Guarantee Scheme 9 )
(D) Mukhyamantri Shahari Rojgar Yojana ®) T ATl
83. |n which district of Rajasthan, in the latest 83. o= @& fba a1 °, T difSTea ad
survey of Geological Survey of India 2021, huge I 3fPSAT 2021 & AT FA&ToT H, HHc
deposits of cement grade limestone have been IS AR & e weR fiyer &7
found? . (A) . O
(A) Jhalawar (B) Jaisalmer
(C) Chittorgarh (D) Pali SAERISHE (D) et
84.  Match these — 84.  gHferd I —
(1) Ajrakh Print (1) Kaithun (1) 3oy fie (1) eE
(2) Power loom fabric printing (ll) Jodhpur (2) 9TdReH dUsl R BUs (1) \—rng’\’
(3) Mothda (I11) Balotara BEICSH (111) STetTaRT
(4) Masuria (IV) Barmer (4) AgRAT (IV) STS*R
Choose the correct option — RERCETS ?ﬁ -
(A) (1) = (1), (2) = (1), (3) = (1), (4) = (1V) (A) (1) = (1), (2) = (1), (3) = (), (4) = (IV)
(B) (1) = (1), (2) = (), (3) = (Iv), (4) = (1) (B) (1) - (1), (2) = (m), (3) = (1v), (4) = (1)
(C) (1) - (Iv), (2) = (), (3) = (1), (4) = (1) (©) (1) - (1v), (2) = (m), (3) = (1), (4) = (1)
(B) (1) = (), (2) = (Iv), (3) = (1), (4) — (1) (D) (1) — (1), (2) = (IV), (3) = (1), (4) = (1)
85.  Which of the following (Irrigation Project - 85 foferiRag # & & w1 (Ri=g aRaET —
District) is not matched correctly? fSrem) gafora 21 272
(A) Savan-Bhado — Kota . (A) Frga—91eT — DI
(B) Som Kagdar — Udaipur E (B) M PITaR — IGIYR
(C) Parvan lift — Jaipur (C) wRee fode — SIAQR
(D) Som-Kamla-Amba — Dungarpur (D) ArH—HHAT—3TET — GIRYR
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86.

87.

88.

The ‘BHOR’ program which is being run with
the co-ordination of the Police
Commissionerate, Jaipur, is aimed at -

(A) Eradication of child labour

(B) Rehabilitation of beggars

(C) De-addiction

(D) Rehabilitation of criminals

What in the
production of groundnut in India?
(A) Second (B) First

(C) Third (D) Fourth

How much share of the center and the state

is the place of Rajasthan

has been kept for the financial arrangement of
the Drought Prone Area Programme (DPAP)

operated in Rajasthan?

86.

87.

88.

Google Play
R (QIUESSR) BRiGH W & gfos
YA STAYR & FHGY A Tl Sl V&l &,
BT LW ® —
(A) 91T 819 BT I+HeIA
(B) gl &1 gAard
(ENIGIES
(D) JURTIEIT ®1 gard
HITHell & IATEH H TSR BT HRA H DI
@ 87
() fg<ira (B) e
(©) g (D) =it
RO H FAIfold @ H91ed &3 HRIHA
Srqed) o foxig weRen & fov &= wg

I5g BT o fobasr war T 87

(A) 50:50 (B) 6040 (A) 50:50 (B) 60:40
(C) 75:25 (D) 90:10 (C) 75:25 (D) 90:10

89. Where was the first cement factory established ~ 89- ORI # MM &1 YIH HRET Haf wIfud
in Rajasthan? AT oPr?

(A) Lakheri (B) Dabok (A) AR (B) T9I%
(C) Beawar (D) Gotan (C) TR (D) et

90. Which of the following is not a proposed 90 fo= & & @9 sfaxr el T8 aRASHT @7
beneficiary district of Indira Gandhi Nahar yfag it e T8 27
Project (IGNP)? (A) T (B) W
(A) Pali (B) Sikar
(C) Nagaur (D) Jodhpur (©) iR (D) irergR

91. ‘pARAKH’, recently seen in news is related to  91- B & # @RI # &1 W f=foRad # &
which of the following? frasy defara 87
(A) Education (B) Banking (A) e (B) dfap
(C) Health (D) Industry (C) Wy (D) &

92. Where did the subsidiary of Adani Hybrid 92 3SMI B3fdS UASH @1 Ae™E HU-l o fHd
Energy setup India’s first wind-solar hybrid RMF TR YR P U8 Ja—IR gSfis urar
power plant? e wefud fear?

(A) Raipur (B) Hyderabad (A) YR (B) TeTETS
(C) Delhi (D) Jaisalmer (C) feeelt (D) SR
131A @ Page 13 of 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

93.  Which of the following statement is true? 93. fa=ifed § | HF AT HAT I 87
(i) Jagdeep Dhankhar sworn in as the 14" Vice- (i) 6 3T, 2022 I SHEIY &GS o IRT B
President of India on 6™ August, 2022 147 SIRTCURT & w9 § 99F off (aqﬁﬂ @
(According to person). SER)
(ii) Jagdeep Dhankhar belongs to Jhunjhunu . ; .. R
district and is the second person from (i1 Eb—rﬂiq 49 3 %Efﬂ
Rajasthan to become the Vice-President. 3_ SR & SURTSCARY 9 et GEY Afdd
(iii) He has been also a Lok Sabha M. P., a =
member of the Rajasthan Legislative (i) T& AT ANIE, IR e &
Assembly and the Governor of West e g UfSgd 9T & IS9uTel 4 v2 2 |
~ Bengal. (iv) I | F9E @ QI B el B 3Teue
(iv) At present the Speaker of both the House :
] ) ) R ¥ % |
of the Parliament is from Rajasthan.
(©) i, i, i (D) i, i, i, iv €1, 1, i )i, i, i, iv
94. Who is the Secretary-General of United 94 AN # Wgad I AU & HEMId B
Nations at present? g7
(A) Antonio Guterres (B) Ban Ki-moon (A) eIy qevd (B) 99 HI—7T
(C) Perez de Cuellar (D) Kofi Annan (C) IS &1 YR (D) BI®I =T
95. Border Security Force has launched which 95 T gRET 9 §RT STaI, 2022 H RTSTRRI BT
cz)gsga?tlon at Rajasthan border in January, el e per T27?
(A) Operation Shakti  (B) Operation Kranti (A) 3ffore w1Rh (B) 3ffuxe™ wifa
C i D i o o
(9] (Ijz\(;;atlon Sard (D) Operation Pawan ©) o wd gar (D) N
96. 327 Bihar Puraskar was awarded to Dr. 96 @ & ISl BISSIA §RT 3241 [Nl REHRR,
Madhav Hada by K. K. Birla Foundation for SI. 9 gTST BT UsH fhar a1, S9a! fha
which of his literary work? P & forg?
(A) Pachrang Chola Pahar Sakhi ri (A) 9TRT AT UsY AT
(B) Hum Yahan The E (B) &9 W&l &
(C) Taslima : Sangharsh Aur Sahitya (C) T : HEy IR Ay
(D) Aankh Heenyai Ra Hariyal Sapana (D) o1y B X1 BRI AT
97. Which of the following Railway station has 97 = % & & Yo 9 BT BT 81 § wife"d
been awarded Platinum Green Railway Station T Yod w9 ST &) TS 8
rating recently? (A) Texrere (B) 3roTiR
(A) Hyderabad (B) Ajmer :
(C) (D) SITErgR
(C) Mumbai (D) Jodhpur R
98. 108t Indian Science Congress scheduled to be 98- THaXl 2023 # 1084l Sfeas ASH HIUN
held in January 2023 at - At 'Rl —
(A) Bangalore (B) Udaipur (A) SR H (B) IgIR H
(C) Agartala (D) Nagpur (C) 3FRTaT H (D) ARTYR
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99. Recently (on 9™ April, 2022), who among the 99 & & H (9 3¥ial, 2022 ®I) IoRAE &
following folk music artist of Rajasthan was f=faRaa 5 9 fod e Gifd TR ®f
awarded ‘Sangeet Natak Akademy Award’? T ACSd fDbIeH YREDpR' yard b war?
(A) Kheta Khan (B) Dapu Khan (A) Tar @ (B) T @™
(C) Gazi Khan Barna (D) Mame Khan (C) 7TToiT @ &=l (D) 99 @=

100. \Who is winner of women’s singles in French  100. =g 3fluq — 2022 & AT Uhal @I faorar
Open - 20227 P 87
(A) 1ga Swiatek (B) Caroline Garcia (A) 31 Raaras (B) dxiferd iRim
(C) Kristina (D) C. Gauff (C) ﬁ‘ﬂfﬁﬂ'{ "T"ﬂé:ﬁ-ﬁ_cﬁ (D) T‘ﬁ Tﬁ'ﬁﬁ

Mladenovic

101. which one of the following groups contains ~ 101. fr=foRad # & 59 9 H Wihed ®IEd
graphical file extensions? TFICY &7
(A) JPG, CPX, GCM (A) TGS, ALY, ST,

(B) GIF, TCE, WMF (B) STT.3M8.U%., SIS, S UA.UF.
(C) TCP, JPG, BMP (C) Sr=fdr, SLdTSh, g,
(D) JPG, GIF, BMP (D) SIS, Siamg.uw., duar.
102. Match column =1 and column — 11 - 102, Tq®7 — | qAT W™ — |l BT HA™ HY —
Column -1 W™ -1
(a) Bar codes (a) IR HISA
(b) OMR (b) 3IT.THITR.
(c) MICR (c) TH.31Ts . 3T” E
(d) QR Code (d) FL3IR. BTS
(e) OCR (e) 3MJ.3TR.
Column -1l ™ -1
(1) Objective type tests (1) IS UBR bl GRIETY
(2) Online payments (2) AFATSH U
(3) Departmental store labels (3) feurddicd R & <Iad
(4) Cheques in banks (4) 96 & TP
(5) Translating printed page to editable text (5) BY gU U] &1 Ufecdd SRe H ®UTRY]
(A) (a)-(3), (b)-(1), (c)-(4), (d)-(2), (e)-(5) (A) (a)-(3), (b)-(1), (c)-(4), (d)-(2), (e)-(5)
(B) (a)-(2), (b)-(4), (c)-(5), (d)-(1), (e)-(3) (B) (a)-(2), (b)-(4), (c)-(5), (d)-(1), (e)-(3)
(C) (a)-(3), (b)-(1), (c)-(2), (d)-(5), (e)-(4) (©) (a)-(3), (b)-(1), (c)-(2), (d)-(5), (e)-(4)
(D) (a)-(4), (b)-(1), (c)-(5), (d)-(3), (e)-(2) (D) (a)-(4), (b)-(1), (c)-(5), (d)-(3), (e)-(2)

103. |n context of MS-Word — 2019, the key stroke ~ 103. THUH.—aS -2019 & ey ¥, 3ifqw uRadd &

to go to the location of the last change - R R M & oy, & BIdh 8 —
(A) Alt + F6 (B) Ctrl + F7 (A) 3ffee +F6 (B) ST +F7
(C) Shift+ F5 (D) Ctrl + Shift + F8 (C) Rrge +F5 (D) oIt + f¥de + F8

104. Which of the following is correct formula in 104 THUA—gadal H 791 H ¥ SIAT T Bl
MS-Excel? g7
(A) = POWER (273)  (B) = POWER (2,3) (A) = POWER (273)  (B) = POWER (2,3)

(C) = POWER (2*3) (D) = POWER (2#3) (C) = POWER (2*3) (D) = POWER (243)
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105.

106.

107.

108.

109.

110.

= |V

NTFS stands for and it was

developed by ....ccovecveeeenee,

(A) New Technology File System; Apple

(B) Network Technology File System; Apple

(C) New Technology File System; Microsoft

(D) Network Technology File System; Intel

Consider the following statements about Li-Fi-

(i) 1t uses normal bulbs to transfer data.

(ii) This technology uses visible spectrum of
light.

(iii) The speed of Li-Fi is slower than Wi-Fi.

(iv) It is expected to be cheaper than Wi-Fi.

Choose the correct statement -

(A) (i) and (ii) (B) (ii) and (iii)

(C) (iii) and (iv) (D) (ii) and (iv)

Choose the correct statement related to

Biodiversity -

(A) Biodiversity increases towards the Equator

(B) Biodiversity
latitudes

increases towards higher

(C) Biodiversity is found equally on earth

(D) High Himalayan regions have the highest
biodiversity in the world

Comma — Shaped Bacteria is called as —
(A) Bacilli (B) Cocci
(C) Vibrio (D) Spirillum

i
The resistance of a parallel circuit consisting of
two branches is 12 Ohm. If the resistance of
one branch is 18 Ohm, what is the resistance of
the other?

(A) 18 Ohm (B) 36 Ohm

(C) 48 Ohm (D) 64 Ohm

When an object falls freely towards the earth,
then its total energy -
(A) increases (B) decrease
(C) remains constant (D) first increases then

decreases

105.

106.

107.

108.

109

110

GET IT ON
NTFS &7 HdeTd
g1 faaRya far T o |
(A) = TGl BIsd RiveH; Twd
(B) Scdd CaIaiioll Bigsel Rived; TWd]
(C) =g Taralloll WIsel RIveH; ISP
(D) Scad Tl BIsel RIREH; S

e — BTs & IR | fA=ferRad deel W fer
v

(i) SeT TRIBR B & oIy I8 A= g Bl
SUNT BT ¢ |

(i) T8 dPAlh UBTY & G WagH Bl
SUANT Bl 2 |

(iii) ATE—HTS DT TTIA ATZ—HIS DI JorT H &l
g

|
(iv) TTE—hTS, dS5—BTs I AT dh-Idl BRI |

HET ATF BT AT DI —
(A) (i) 3R (ii) (B) (ii) 3R {iii)
(C) (iii) MR (iv) (D) (ii) 3R (iv)

Sta fafduar @ wwfd 981 $9F &1 T

o

(A) S fafqerdr e Y& &Y AR el §

(B) SYq fafderdr Izaax 3feien &1 IR gl ©

(C) gt W 99 fafdedr v |@AE 18 Sl ©

(D) Iz feArerl) &l # fawg @ waifs oa
fafderar 2

IR & IMBR B SHATY HEAd & —

(A) IS (B) PTebTg

(C) fafgan (D) wrsRer™

1 IRIIRN dTel FHMIGR gRuey &7 YR 12
A 2| I TP IaT &1 UfaR 18 ¥ ®, af

O WRAT BT GRRe T 27
(A) 18 3nH (B) 36 3N
(C) 48 3w (D) 64 a0F

I DI Ivg Wad ® A gedt R el & @

D] Bl Holl —

(A) gt B (B) TedT B
(C) ReR & B (D) gl dedl ©, fiR
gedl 2
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111.

112.

113.

114.

115.

Match the chemical substances given in
column (l) with their appropriate application
given in column (ll).

Column (1)
(a) Bleaching powder
(b) Baking soda
(c) Washing soda
(d) Sodium chloride

Column (11)
(i) Preparation of glass
(ii) Production of H, and Cl,
(iii) Decolourisation
(iv) Antacid
(A) a— (i), b= (i), c— (iv), d — (iii)
(B) a — (iii), b — (ii), c = (iv), d = (i)
(C) a—{(i), b — (ii), c— (iii), d = (iv)
(D) a — (iii), b — (iv), c — (i), d — (ii)
Consider the following —

1. Methane E
2. Nitrous Oxide
3. Halons

Which of the above is/are responsible for
depletion of stratospheric ozone?

(A) 1 and 2 only (B) 1,2and 3

(C) 3 only (D) 1 only

What does ‘OTEC’ stand for?

(A) Oil and Thermal Evolution Convention

(B) Ocean and Tide Electric Conservation

(C) Ocean Thermal Energy Conversion

(D) Oil and Thermal Energy Conservation

The e, is atits largestin children,

but with the onset of puberty, it eventually

shrinks and gets replaced by fat.

(A) Parathyroid gland (B) Thymus

(C) Hypothalamus (D) Pituitary gland

Choose the right statement / statements about

ISRO -

(1) ISRO built India’s first satellite, Aryabhat,
which was launched by USA in 1975.

(2) Antrix Corporation is the marketing arm of
ISRO.

(3) Master Control Facility of ISRO is situated in
Hassan.

111.

112.

113.

114.

115.

GET IT ON
Google Play

Hierd (1) ¥ fou v xRafe genll &1 Biem

() % T Y Iugad SgwRIT & A o |
it (1)

(a) SART TSR

(b) ST ATST

(c) ItRFT |rer

(d) W eiTge
cacul(l)

(i) P e H

(i) Hz 3R Cl, & IdTe |

(iii) foRSTHRoT H

(iv) TeTiRTs

(A) a - (ii), b (i), ¢ — (iv), d — (iii)

(B) a — (iii), b — (ii), ¢ — (iv), d = (i)

(©) a— (i), b - (ii), c - (iii), d = (iv)

(D) a — (iii), b = (iv), c = (i), d = (ii)

9 R IR & —

1. 9199

2. IS¢ Ilfaass

3. gar

= § 9 B9 gHdIHS N @ g B
forw SRerRY 8 /8?
(A) ®aeT 1 3R 2
(C) ®aa 3

‘OTEC’ &7 31f ® —
(A) 3ifgel UTS e UaTeg2e B2l

(B) 31T TUS TYS golfdgd Do

(C) 3T o TG a9l

(D) 3ifscl TUS oAHd TS Hrolde

.................... gdi H 999 9T 81dT §, <ifhT Jla
B IBIATT B A1, Ig 3fc: Rigs 1T 2 @ik

(B) 1, 2 3R 3
(D) BaeT 1

9T gRT ufaRenfid 81 Sirar g |
(A) tRremsRIgs Ufr  (B) gy
(C) Ergmrorm (D) freaed Wi

SR (ISRO) & IR ¥ WE! HAF / Bl BT T

BIFTY —

(1) S R U8l ¥R SYUug &1 fasfor
far T SR 39 1975 H JTHT. (USA)
ST verfud foar |

(2) TfrcaT HRARTE SIRT I Ao Imr 2 |

(3) SERT BT ARER Hgld BRAferel, 8T §
Rera 21

(A)1,2,3 (B) 2,3 (A) 1,2,3 (B) 2,3
© 1,3 (D) 1,2 ©1,3 (D) 1,2
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116

117.

118.

119.

120.

121.

A shopkeeper gives rebate of 20% and 10%

116.

LN

U AR HAT & Afdhd Hod TR HA 20%

successively on print price of a chair. If cost of Td 10% BT B <dl ©| AT H{AT BT A
chair is 2,000, then how much amount will 2,00 &, d U8d P fHaa oI bl
customer pay? qST?

(A) 1,400 (B) 1,500 (A) 1,400 (B) 1,500

(C) 1,600 (D) 1,440 (C) 1,600 (D) 1,440

The average age of a class of 40 students and a
teacher reduces by 0.5 years, if we exclude the
teacher. If the initial average age is 18 years,
then what is the age of the teacher?

(A) 38 years (B) 40 years

(C) 39 years (D) 41 years

The difference between the simple interest and
the compound interest on a certain amount at
5% for two years is X 25, what is the amount?
(A) X 8000 (B) 9000

(C) T 10,000 (D) % 15,000

Two candidates fought an election. One of
them got 65% of the total votes casted and won
by 420 votes. What is the total number of votes
polled if no vote is declared invalid?

(A) 1500 (B) 1400
(C) 1300 (D) 1200

If A’s income is 3/5 times of B’s income and C’s
income is 6/5 times of B’s income then the ratio
of C’s income to A’s income is -

(A) 1:2 (B) 2:1

€11 (D) 3:1

Choose correct mirror image of given question
figure when mirror is placed on the line AB —

A
B
4
>
P

Question Figure

(A) (B)

xR
K

(€) (D)

117.

118.

119.

120.

121.

Ife g7 e o B <, a1 40 BT 3R Tdh

R @ Fem o i My 0.5 a¥ A '

S 21 It uRMS offd oMy 189y B A

Rieten @1 g FT 77

(A) 38 99 (B) 40 99

(C) 3999 (D) 4199

U e I R 5% @ X T I8 B

o AR ST SR Thgfy @S & 9 @

3faR 25 T &, I T B

(A) 80003 (B) 90003

(C) 10,0003 (D) 15,0003

31 SHIGART 7 U g9 oISl | S99 | Uh o

Hol STel T F/Al & 65% Fd U< b 3R 420

7t 3 faorY 81 T | afe BIg A9 oM =iy

T8 fhar A1, @ TTel MY ol Al DI G
(B) 1400

T 87 E
(D) 1200

(A) 1500

(€) 1300

IfE A @Y 3T, B BT M | 3/5 AT & qAT C
DI M, B BT 3T A 6/5 AT &, Al C B 3
BT A BT AT AR & —

(A) 1:2 (B) 2:1

(C) 11 (D) 3:1

&1 TS U JApIcT BT AT YT Hfdfdm g g
TYOT BT @ AB TR T Y —

T AT

(A) (B)

(€) (D)

|
%
=
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122.

123.

124,

125.

Statement — Quality has a price tag. India is
allocating lots of funds to
education.

Conclusion — |. Quality of education in India

would improve soon
Il. Funding alone can enhance
quality of education.

(A) Only conclusion Il follows

(B) Only conclusion | follows

(C) Neither I nor Il follows

(D) Both I 'and Il follows

Which

represents the relation between Tree, Teak,

one of the following diagrams

Salamander?

(A) (B) @O
(C) G@ (D) @O

Select the related letters to replace the ‘?’ from

e

the given options -

HILN : SQOM : : DFHJ : ?

(A) wusQ (B) VRQS
(C) xasa (D) XRQS

Rahul starts walking from point R, which is 16
m to the west of point T. From point R, he walks
20 m to the south, takes a right turn and walks
for 10m. He then takes a right turn, walks for
6m and stops at point C. Gaurav starts walking
from point A, which is 8 m to the south of point
T. From point A, he walks 10m to the East, takes
a right turn and walks for 6m. He then takes a
right turn walks for 26m and stops at point B.
What is the distance between point C and point
B?

122.

123.

124,

125.

GET IT ON
Google Play

FHUF — IO BT P Hed ST BIdl & | 9IRd
e & forg 9gd ART o emafed @
RET B |

fspy | wRa H R o e # Seg €

JIR BT |
Il 37l fo<T qyor fRUer & I[ore I
T AR 2 |

(A) Bae Ty || STTERT Hxal ©

(B) dadt fepy | TR0 &Ral &

(C) 1 a1 I3R AT & Il SHROT Bl ©

(D) 1 3R 1l ST JAFERVT B ©

f=foRad & 9 dI—a71 IIRW Us, AW 3R

daMer & 4 deg F1 glaEeE FRar

27

(A) (B) @O
(C) GZZD (D) @Q

fer v fAweul 4 9 P & WH W gdEd

3feR} Bl gy —

HILN : SQOM : : DFHJ : ?

(A) wusQ (B) VRQS
(C) xasa (D) XRQS

g g R 9 I P& dxar g, Sl g 7 &
uf¥ed d 16 #. g | fdg R 9, 98 20 AL Tl

B 3R FeIdl 8, SR FodT 2 3fR 10 AL =rerdn
2| MR g8 < gedr 8, 6 HI. Faldl § AR fdg
C W IH oAl | 7RG fdg A 4 = o
AT e, ol f[dg 7 & 8 M. <feor 7 71 &g A
A, 98 10 W g &I IR FoAdT B, IR Hodl &
3R 6 #I. =eral 21 R 98 TR gear © 3R
26 ¥I. oral & R fdg B ) v e 2 1fdg
c 3R fig 8 & d1g &1 g faeir &7

(A) 15 m (B) 12 m (A) 1541, (B) 12 .
(C) 10 m (D) 25 m (C) 10+ (D) 25 .
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126.

127.

128.

129.

If TRIPPLE is coded as DMOQHSS in a code
language, how is VICTORY coded in that
language?

(A) XSNUBJU (B) ZXPSDHW

(C) UJBUNSX (D) WHDSPQZ

A is B’s sister. C is B’s mother. D is C’s father. E
is D’s mother. How is A related to D?

(A) Grandmother (B) Grandfather

(C) Granddaughter (D) Daughter

In a row of 21 men when Manish was shifted by
four places towards the right, now he becomes
12% from the left end. What was his earlier
position from the right end of the row?

(A) 14t (B) 12t

(C) 10t (D) gth

Find the wrong number in the given series from

the given alternatives -

14, 39, 84, 155, 260

126.

127.

128.

129.

GET IT ON
Google Play

fo:il Aidfae Wi H JfE TRIPPLE &1 3t
DMOQHSS &, AT ST 99T H VICTORY &7 372
FIT BIIT?

(A) XSNUBJU (B) ZXPSDHW

(C) UJBUNSX (D) WHDSPQZ

A,B @ 98 | C,B &I AT €| D, C &1 fiam
21 ED @ A 2| A {59 UBR D ¥ Hafd
27?
(A) <1<t (B) <raT
(C) 4 (D) g
21 9381 @1 U Gfad § A9 BI SR SR AR
WM ARST AT 3fd 98 91 BR 4§ 12 d
WM W g Ufdd § T BR W SHdl qd |
AT AT 2AT?
(A) 145t (B) 129t
(C) 10qT (D) gdf
feq Ty fachedl d & & 7 el d Teld HeAr
ST BT —

i

14, 39, 84, 155, 260

(A) 39 (B) 84 (A) 39 (B) 84
(C) 155 (D) 260 (C) 155 (D) 260
130. How many triangles are there in the following 130 /= =I5 # f&d= Brer 87
figure?
(A) 16 (B) 15
(A) 16 (B) 15
(C) 14 (D) 13
(C) 14 (D) 13
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131. grife wR AfY @1 gftc @ sRgaferd fddey o1 =g9 Sy —

132.
133.
134.
135.
136.
137.
138.

139.

140.

(A) @1 + 35 = dfdA (B) fa&r + a1 = faumas
(C) 1T + QYU = dyon (D) foo + @/ = fam IS
o 9uif & Hag # diE — A1 fAder gafea =2 2?

(A) 31, ¥ — Fagee (B) ¥, 9 — =R

€) 7, B — w3l o (D) 71, g — W oA
qIed & 3id § ygad ARTford U, & forg Aefe v § —

(A) fage® (B) ey

(C) WRadrw (D) gTSTaTRy

1 H 9 5 Ahea & I eIl 3§ SURTT T U™ S BT YANT g7l &7
(A) 3feTd, Jqcid, rarad (B) fa=mof, wiRaRe®, sicafis
(C) orafdy, 7St TRy (D) B, Tfive, wifeer

=1 4 9 g a1 BT =TI By —

GET IT ON
Google Play

I

(A) IoiF H Md T IS oG- I © | (B) A19T # efR—¢fR 918 o9 & 91 § |

(C) I ™R &l W & -T&1 faar| (D) I TRAGTT TR fIvar g |
foa fawed # “Allocation’ 3 &1 fa=dt TIiR¥IfN® oreg AET 27

(A) FHTISTH (B) fara=

(C) fosar (D) HegH

fhd faeed H Yoy WA BT AT 81 83l &7

(A) @’cﬂﬁfﬁf (B) 3ierfazare

(C) wfergTad (D) wroerg
I oreg @1 gfte | | fdded &1 = DIy —

(A) ITT—37arEll, AT, AR (B) 3ferH—S<iH, 3rgi—fdsl, U—U

(C) AT IDI—IUIDI, JNTH—AFANC, JF—3( (D) YH—UTHI, ISRI—AJaRI, Vead—3rivad

T fAhed BT T HIfoTy —

(A) 394 |9 @M | — gHHd fhar
(B) gferd 9 AR UdeardT | — RIS T
(C) #rar Sit ufafes o # I 2 | — S T
(D) <e® HeM ¥ 2 W© B | — 3[@HHE fohar
1 H ¥ P T w9 M faer 78 87

(A) fHfeqa (B) faa+
(C) ™™ (D) A
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Direction (141 to 143) : Read the given passage and answer the questions that follow —

Despite the frustrating years of dragging children out of bed and persuading them to go to school,

young children have an internal drive to learn about their world, and become industrious and

productive individuals. Their educational eagerness and curiosity can either be stifled or encouraged

by parents, teachers and other adults. Aware parents can encourage their children’s development of

important life skills. Besides teaching them to read and write, school and home environments teach

children cooperation and interdependence. Children also engage in important play rituals (like playing

with dolls or cops and robbers) which prepare them for adolescence and adulthood. Supportive parents

can promote crucial learning of life skills. Above all, school-age children struggle with feeling of

inferiority and incompetence when they compare themselves with their peers. If they don’t fit in, they

might feel insignificant. Loving and accepting parent’s help these children develop the confidence to

create a future where they can thrive and feel good about themselves.
141. The synonym of the word ‘stifled’ given in the passage is —

(A) suppressed

(C) enhanced
142. The antonym of the word ‘curiosity’ given in the passage is -

(A) inquisitiveness (B) apathy

(C) prying

143. Some games prepare the children for:
(A) competition
(C) good health

144. Choose the correct Hindi translation of the given sentence —

(B) inspired
(D) amplified

(D)

(B) adolescence and adulthood

(D) academics

Mom, could you put my books inside the bag?

(A) T, T ¥R fHdTd M #N ST H I Fepell 81°
(B) HI, T MU A fhdd &7 H g & 87

(C) f, T 3Mg Y fohrelrd &7 # < Hhehl B2
(D) Hf, T X 9T H W fhard o =g & 8?

145. Which of the following is/are the correct statement/s regarding letter writing?
() ‘Your’s Faithfully’ is used for ending a formal letter.

intrusiveness

(m The right sequence of writing a letter to the editor is - Sender’s address, Receiver’s address,

Subject, Salutation, Body of letter, Subscription, Date.

() The right format of writing a date in all formal letters is ‘30" May, 2022’ instead of

‘30/05/2022’.
(IV)  “Yours Truely’ is used for ending an informal letter.

Code-

(A) Onlyll, Illand IV are correct
(C) Only lllis correct

(B) Only |, lll and IV are correct
(D) Only Il and IV are correct
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146. Gjve one word substitute for

A large number of fish swimming together.

(A) shoal

(C) swarm

(B) troupe

(D) litter

147. Choose the meaning of the underlined phrase/Idiom —

| am going to stay at home because | am feeling under the weather today.

(A) unhappy

(C) irritated

(B) depressed

(D) sick

148. Choose the correct answer from the given options —

GET IT ON
Google Play

The teacher said to the students, “Take back your books”. (Change into indirect speech)

(A) The teacher asked the students to take back your books.

(B) The teacher asked the students to take back their books.

(C) The teacher told the students to take back books.

(D) The teacher ordered the students to take back your books.

e

149. Fj|l in the blank spaces in the given sentence choosing correct answer from the given options —

tigeris ................ fierce wild animal”.
(B) the, a

(D) the, the

150. Choose the correct option:

They made me laugh. (Change into passive voice)

(A) They were made to laugh by me. (B) They made too laugh by me.
(C) 1 was made to laugh. (D) 1 were made to laugh by them.
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Space for Rough Work /3% &1 & fog s

e

IR gFG H & uferlt € — 7ot i oiR fgdia ufd, oden 9aifd .k olie @et eres 9 qd qRietefl ST
U3h B I Uil dietes DI A, gRienell W@y fgdia ufd B1 e e B | dleh gR1 SR UHd bl gl
gfel I 39 °Td S AR, G ufd &1 Jof Ui | & AR § Al BR AEEHIYdd AT B et
D1 AT | oereft fgcfia ufad @l sue |1y of oI |
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